B Y 9 19 °1 1L G0 T £00T H6T H¢€ £09T H 6T H€ £17 H6T He 4
B S Y €8 LLT ) 90 1 £IST HV HT £HZ2HS HI LIPTHY HI 1%
B S Y g9 291 g9 L0°1 £00T HOZ H'T £10 HIZHT £18 HOZHT 0%
BT ¥ 6°9 181 59 80 'T £18 HOT H¢€ £02T HOT H€ £H022 H6 HE 61
BT ¥ €8 06T 1°8 80 1 £00T HOZ H 2T | £10 HLZ2HGI £H0T HO9Z H2T | 81
BT ¥ 89 06T 0L I1°1 £19 H9Z HZ £02T H9Z H 2 £12 H9Z HZ LT
= 0°6 Y 1 v 6 I1°1 HHOT HOT HIT | £09 HITHIT £09 He6 HIT | 91
By 9°8 681 I°L 211 £12 HL HI $£47 HS8 HI £40 HLZ HI SI1
B Y 90T €61 86 211 £48 HOT HIT | $HPTHOT HIT LIPTHST HIT | ¥1
B Y g9 I18°1 99 LT°T £UST HEZ HIT | 47 HVZHIT HHOT HEZ HIT | €1
B Y i) I18°1 ) LT°T £17V HSI HZ £48T H ST H2 HHOT H LT H 2 zl
WYY L8 GLT L9 8T 1T £18 Hg HI £48 He HI £48 HZ HI 1
T Y 1°6 8L°T €6 6T 1 £10 HE HIT | £182HE HIT £10 HZ HTIT | 01
8 X il S ANl G561 66 611 £ HITHZT | £12C HZT HGT £17 HOTHZT | 6
B Y R % 99 281 ) 121 YT HESHT £48 HVZHT £48 HETHT 8
B FHY H Y 6°G 261 ) €21 £U8T H ST H 2T | £HPT H6T HaT L£HCT HST H 2T | 2
B FHY Y 89 g1 2 i 621 L£AST HIT H'T £09 HZTHT LIPTHITHT 9
B S Y Z 6 202 96 0e 1 £19T Hg HZ £18 HE HZ £0C2HT HZ g
LeTo1E S 9L L6 T 1L ge 1 £10 HV HOT | £H2T HV HOT £I8T HE HOT | ¥
B S Y 98 €61 z -8 ge 1 £O9THT HZT | £10 HZ HaI L£HCTHT HZI | €
S ¥ N B ¥ g1 12 °2 811 161 £19 HzI He £HCT HET H€ £17 H2T HeE 4
S ¥ N B L€l e1 ¢ 621 66 1 £4v HV HV HHOT HV HV £42 HV HV 1
- e () M [ | (W) Bzt | (S) Hif [ | (W) =t 7 ESER @ P — oy
ZlE et 3 FFEE FEFEB Y Y
(62~T) 453107 (A0 I
FEHAE (MM [ eV




